
Midterm 3 Equations, Chem 125H, Fall 2020 NJIT 

 

Bond order = [(# of bonding electrons)-(# of antibonding electrons)]/2 

Hooke’s Law: F=-k(R-Re) 
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Bragg Law: nλ = 2d sinθ 

 

Clausius-Clapeyron Equation: 
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ΔG = ΔH −TΔS 

Henry’s Law: P = kHχ or P = kC 

 

 



Raoult’s Law: 

Psolution = χsolventP°solvent 

PTotal = Pa+Pb = χAP°A + χBP°B 

 

ΔT = Kbmsolute 

ΔT = Kfmsolute 

π = MRT 

 

van’t Hoff factor, 

 

moles of particles in solution

moles of solute dissolved
i =

 

ΔT = iKbmsolute 

ΔT = iKfmsolute 

π = iMRT 

 

 


